ECE 476/576

HW #1
.3
kxH=-0D; k-kXH)=0; (2) .. k-D=0; (b) D= (l/wo)k xH ;
B = (1/0) k X E,use (A X B) X (C X D) = C[A-(B x D)] - D[A-(B X C))
~+ DXB=-(l/e?) {(k(k-(HXE)) - E(k - (HXk)});
NowHXE=-EXHand HXk=oD .. DXB = (l/0?) k[k - (E X H)];
kx (kxE) = opgk xH) = —021oD;
Now D-[k(k-E) - k2E] = —w2joD-D, but D-k = 0;
.2 _ .2, D-D
- |k® = @®po g
1.5
eV A nm Hz . cm—l
GaAs 1.47 8434 843.4 3.56+14 11,857
Art 2.41 5145 514.5 5.83+14 19,436
He:Ne 1.96 6328 632.8 4.74+14 15,803
CcOy 0.117 A = 10.6 um 2.83+13 943
ISM(rD) 5.6-8 A = 22.1 meters 13.56%6 4.54
KrF 4.98 2490 | 249 1.2+1S 40,161
1.10
tan 0 =n = 1.43
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